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POVRSINA 72.6m? PRI
1 HODNIK P=7.95m2
2 KUHINJA+BLAG.+DN.BORAVAK  P=22.40 m2 e
3 SOBA 1 P=10.70m2 dripdafne
4 SOBA 2 P=11.90 m2
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STAN 3§82, 85, §8, S11

POVRSINA 60.25m?2
OBJEKAT A

1. HODNIK P=3.50 m2
2 KUHINJA P=7.80 m2

3 DN. BORAVAK P=15.20m2
4 SOBA P=14.05 m2
5 KUPAONICA 1 P=4.80 m2
6 HODNIK P=3.50 m2
7. TERASA P=11.40 m2
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STAN 83,86,59,512

POVRSINA 57.6m?2
OBJEKAT A

1. HODNIK P=6.35 m2

2 KUHINJA+BLAG P=9.45m2

3. DN. BORAVAK P= 15.65m2

4. SOBA P=10.66 m2

5 KUPAONICA 1 P=4.05 m2

6 TERASA P=1140 m2
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STAN S§3, §6,59,512
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STAN $§4,§87,510

POVRSINA 81.85m?2
OBJEKAT A

1-HODNIK P=8.60 m2
2. KUHINJA+BLAG.+DN.BORAVAK  P=10.15 m2
3.BLAG.+DN.BORAVAK P=18.70 m2
4 SOBA 1 P=11.90m2
5 SOBA 2 P=12.65 m2
6 KUPAONICA 1 P=4.85 m2
7. KUPAONICA P=3.40 m2
8 TERASA P=11.60 m2
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